# Czechoslovak Mathematical Journal

Alois Švec On Veronese surfaces

Czechoslovak Mathematical Journal, Vol. 38 (1988), No. 2, 231-235,236

Persistent URL: http://dml.cz/dmlcz/102217

## Terms of use:

© Institute of Mathematics AS CR, 1988

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-GZ: The Czech Digital Mathematics Library* http://dml.cz

#### ON VERONESE SURFACES

ALOIS ŠVEC, Brno

(Received February 2, 1986)

**0.** The following result is known, see [1]: Let (M, g) be a closed, connected 2-dimensional manifold with curvature K. Let (i)  $\frac{1}{3} \le K \le 1$  or (ii)  $\frac{1}{6} \le K \le \frac{1}{3}$  resp. If  $\sigma: M \to S^N(1)$  is a minimal isometric immersion then K = 1 or  $K = \frac{1}{3}$  in the case (i) and  $K = \frac{1}{3}$  or  $K = \frac{1}{6}$  in the case (ii). For  $K = \frac{1}{3}$ ,  $\sigma(M) \subset S^4(1) \subset S^N(1)$  is a Veronese surface.

Here, I study minimal immersions  $\sigma: M \to S^4(1)$ . To each such immersion, I associate a normal vector bundle of  $\sigma(M)$  and its curvature k. If K and k satisfy certain inequalities,  $\sigma(M)$  is a Veronese surface as well.

**1.** Let M be a 2-dimensional manifold,  $\sigma: M \to S^4(1)$  an immersion into the 4-dimensional unit sphere of the real Euclidean space  $\mathbb{R}^5$ . To each point  $m_0 \in M$ , let us associate an orthonormal frame  $\{m; v_1, ..., v_5\}$  of  $\mathbb{R}^5$  such that  $m = \sigma(m_0)$ ;  $v_1, v_2 \in T_m(\sigma(M))$ ;  $m + v_5 =$  the center of  $S^4(1)$ . Then we have the fundamental equations of our moving frames

$$\begin{aligned} \text{(1.1)} & & \text{d} m = \omega^1 v_1 + \omega^2 v_2 \;, \\ \text{d} v_1 &= \omega_1^2 v_2 + \omega_1^3 v_3 + \omega_1^4 v_4 + \omega^1 v_5 \;, \quad \text{d} v_2 &= -\omega_1^2 v_1 + \omega_2^3 v_3 + \omega_2^4 v_4 + \omega^2 v_5 \;, \\ \text{d} v_3 &= -\omega_1^3 v_1 - \omega_2^3 v_2 + \omega_3^4 v_4 \;, \quad \text{d} v_4 &= -\omega_1^4 v_1 - \omega_2^4 v_2 - \omega_3^4 v_4 \;, \\ \text{d} v_5 &= -\omega^1 v_1 - \omega^2 v_2 \end{aligned}$$

with the integrability conditions  $(\omega_i^j = -\omega_j^i)$ 

(1.2) 
$$d\omega^{i} = \omega^{j} \wedge \omega_{j}^{i}, \quad d\omega_{i}^{j} = \omega_{i}^{k} \wedge \omega_{k}^{j}.$$

From

$$(1.3) \omega^3 = \omega^4 = \omega^5 = 0,$$

we get

(1.4) 
$$\omega^1 \wedge \omega_1^3 + \omega^2 \wedge \omega_2^3 = \omega^1 \wedge \omega_1^4 + \omega^2 \wedge \omega_2^4 = 0$$

and the existence of the functions  $a_1, ..., b_3$  such that

(1.5) 
$$\omega_1^3 = a_1 \omega^1 + a_2 \omega^2, \quad \omega_1^4 = b_1 \omega^1 + b_2 \omega^2,$$
$$\omega_2^3 = a_2 \omega^1 + a_3 \omega^2, \quad \omega_2^4 = b_2 \omega^1 + b_3 \omega^2.$$

From (1.1) and (1.5), we get

(1.6) 
$$\Delta m = (a_1 + a_3) v_3 + (b_1 + b_3) v_4 + 2v_5,$$

 $\Delta$  being the Laplace operator. The mapping  $\sigma$  is called a *minimal immersion* if the vector  $\Delta m$  is a multiple of  $v_5$ , i.e., if

$$(1.7) a_1 + a_3 = b_1 + b_3 = 0.$$

In what follows, let us restrict ourselves to minimal immersions.

Around the point m, consider a field of tangent unit vectors

$$(1.8) t = xv_1 + yv_2; x^2 + y^2 = 1.$$

By  $\nabla$ , we denote the symbol of the covariant differentiation associated to the induced metric

(1.9) 
$$ds^2 = (\omega^1)^2 + (\omega^2)^2.$$

Then it is easy to see that

(1.10) 
$$\nabla_t t = (\cdot) v_1 + (\cdot) v_2 + (\cdot) v_5 + \{a_1(x^2 - y^2) + 2a_2 xy\} v_3 + \{b_1(x^2 - y^2) + 2b_2 xy\} v_4.$$

Each unit vector t (1.8) is thus mapped into the point

(1.11) 
$$m + \xi v_3 + \eta v_4$$
;  $\xi = a_1(x^2 - y^2) + 2a_2xy$ ,  $\eta = b_1(x^2 - y^2) + 2b_2xy$ 

of the plane  $v_m = \{m; v_3, v_4\}$  of the normal bundle v of  $\sigma(M)$ . The points (1.11) form, for m fixed and all t's, the ellipse

$$(1.12) \quad (b_1^2 + b_2^2) \, \xi^2 - 2(a_1b_1 + a_2b_2) \, \xi \eta + (a_1^2 + a_2^2) \, \eta^2 = (a_1b_2 - a_2b_1)^2 \,,$$

the so-called indicatrix of normal curvature.

The Gauss curvature K and the curvature of the normal bundle k are defined by

(1.13) 
$$d\omega_1^2 = -K\omega^1 \wedge \omega^2, \quad d\omega_3^4 = -k\omega^1 \wedge \omega^2$$

resp; we get

$$(1.14) K = 1 - a_1^2 - a_2^2 - b_1^2 - b_2^2, k = 2(a_1b_2 - a_2b_1).$$

The Veronese surface is defined as follows: In the Euclidean 3-space  $\mathbb{R}^3$ , consider orthonormal coordinates (x, y, z) and the mapping  $S^2(\sqrt{3}) \to S^4(1)$  given by

(1.15) 
$$u_1 = \frac{1}{3}\sqrt{3} \cdot yz, \quad u_2 = \frac{1}{3}\sqrt{3} \cdot xz, \quad u_3 = \frac{1}{3}\sqrt{3} \cdot xy, u_4 = \frac{1}{6}\sqrt{3} \cdot (x^2 - y^2), \quad u_5 = \frac{1}{6}(x^2 + y^2 - 2z^2),$$

 $(u_1, ..., u_5)$  being orthonormal coordinates in  $\mathbb{R}^5$ . To each point of the Veronese surface, we may associate orthonormal frames such that we get (1.1) with

$$(1.16) \quad \omega_1^3 = -\omega_2^4 = \tfrac{1}{3} \sqrt{3} \, . \, \omega^2 \, , \quad \omega_1^4 = \omega_2^3 = \tfrac{1}{3} \sqrt{3} \, . \, \omega^1 \, , \quad \omega_3^4 = -2\omega_1^2 \, ;$$

see [2]. For our Veronese surface, we get

(1.17) 
$$K = \frac{1}{3}, \quad k = -\frac{2}{3}.$$

### 2. We are going to prove the following (auxiliary)

**Theorem 1.** Let  $\sigma: M \to S^4(1)$ , dim M = 2, be a minimal immersion; let M be compact. If

$$(2.1) 2K > k$$

on M, the indicatrices of normal curvature are circles.

Proof. Let us start with the equations (1.5) + (1.7). The differential consequences being

$$(2.2) \qquad (\mathrm{d}a_{1} - 2a_{2}\omega_{1}^{2} - b_{1}\omega_{3}^{4}) \wedge \omega^{1} + (\mathrm{d}a_{2} + 2a_{1}\omega_{1}^{2} - b_{2}\omega_{3}^{4}) \wedge \omega^{2} = 0 ,$$

$$(\mathrm{d}a_{2} + 2a_{1}\omega_{1}^{2} - b_{2}\omega_{3}^{4}) \wedge \omega^{1} - (\mathrm{d}a_{1} - 2a_{2}\omega_{1}^{2} - b_{1}\omega_{3}^{4}) \wedge \omega^{2} = 0 ,$$

$$(\mathrm{d}b_{1} - 2b_{2}\omega_{1}^{2} + a_{1}\omega_{3}^{4}) \wedge \omega^{1} + (\mathrm{d}b_{2} + 2b_{1}\omega_{1}^{2} + a_{2}\omega_{3}^{4}) \wedge \omega^{2} = 0 ,$$

$$(\mathrm{d}b_{2} + 2b_{1}\omega_{1}^{2} + a_{2}\omega_{3}^{4}) \wedge \omega^{1} - (\mathrm{d}b_{1} - 2b_{2}\omega_{1}^{2} + a_{1}\omega_{3}^{4}) \wedge \omega^{2} = 0 ,$$

we get the existence of functions  $\alpha_1, \ldots, \beta_2$  such that

(2.3) 
$$da_{1} - 2a_{2}\omega_{1}^{2} - b_{1}\omega_{3}^{4} = \alpha_{1}\omega^{1} + \alpha_{2}\omega^{2},$$

$$db_{1} - 2b_{2}\omega_{1}^{2} + a_{1}\omega_{3}^{4} = \beta_{1}\omega^{1} + \beta_{2}\omega^{2},$$

$$da_{2} + 2a_{1}\omega_{1}^{2} - b_{2}\omega_{3}^{4} = \alpha_{2}\omega^{1} - \alpha_{1}\omega^{2},$$

$$db_{2} + 2b_{1}\omega_{1}^{2} + a_{2}\omega_{3}^{4} = \beta_{2}\omega^{1} - \beta_{1}\omega^{2}.$$

From this,

(2.4) 
$$d(a_1 + b_2) - (a_2 - b_1)(2\omega_1^2 - \omega_3^4) = A_1\omega^1 + A_2\omega^2,$$

$$d(a_2 - b_1) + (a_1 + b_2)(2\omega_1^2 - \omega_3^4) = A_2\omega^1 - A_1\omega^2;$$

$$A_1 := \alpha_1 + \beta_2, \quad A_2 := \alpha_2 - \beta_1.$$

The exterior differentiation of (2.4) yields

(2.5) 
$$\{ dA_1 - A_2(3\omega_1^2 - \omega_4^3) \} \wedge \omega^1 + \{ dA_2 + A_1(3\omega_1^2 - \omega_3^4) \} \wedge \omega^2 =$$

$$= (2K - k)(a_2 - b_1)\omega^1 \wedge \omega^2 ,$$

$$\{ dA_2 + A_1(3\omega_1^2 - \omega_3^4) \} \wedge \omega^1 - \{ dA_1 - A_2(3\omega_1^2 - \omega_3^4) \} \wedge \omega^2 =$$

$$= (k - 2K)(a_1 + b_2)\omega^1 \wedge \omega^2 .$$

The function f being defined by

(2.6) 
$$2f = (a_1 + b_2)^2 + (a_2 - b_1)^2,$$

we have

$$\mathrm{d}f = \{ \left( a_1 + b_2 \right) A_1 + \left( a_2 - b_1 \right) A_2 \} \ \omega^1 + \{ \left( a_1 + b_2 \right) A_2 - \left( a_2 - b_1 \right) A_1 \} \ \omega^2$$
 and

$$(2.7) d*df = 2\{A_1^2 + A_2^2 + (2K - k)f\} \omega^1 \wedge \omega^2.$$

The supposition (2.1) and the Stokes theorem (or the maximum principle) imply  $f \equiv 0$ , i.e.,

$$(2.8) b_1 = a_2, b_2 = -a_1.$$

Now, look at (1.12). QED.

### 3. Let us prove our main Theorems.

**Theorem 2.** Let  $\sigma: M \to S^4(1)$ , dim M = 2, be a minimal immersion; let M be compact. If

$$(3.1) 2K > k \ge -2K$$

on M, there are just two cases possible: (i) K = 1, k = 0, and  $\sigma(M)$  is a great sphere; (ii)  $K = \frac{1}{3}$ ,  $k = -\frac{2}{3}$ , and  $\sigma(M)$  is the Veronese surface.

Proof. Theorem 1 implies (2.8), and the equations (2.3) reduce to

(3.2) 
$$da_1 - a_2(2\omega_1^2 + \omega_3^4) = \alpha_1\omega^1 + \alpha_2\omega^2,$$

$$da_2 + a_1(2\omega_1^2 + \omega_3^4) = \alpha_2\omega^1 - \alpha_1\omega^2.$$

The differential consequences are

(3.3) 
$$\{ d\alpha_1 - \alpha_2 (3\omega_1^2 + \omega_3^4) \} \wedge \omega^1 + \{ d\alpha_2 + \alpha_1 (3\omega_1^2 + \omega_3^4) \} \wedge \omega^2 =$$

$$= (2K + k) a_2 \omega^1 \wedge \omega^2 ,$$

$$\{ d\alpha_2 + \alpha_1 (3\omega_1^2 + \omega_3^4) \} \wedge \omega^1 - \{ d\alpha_1 - \alpha_2 (3\omega_1^2 + \omega_3^4) \} \wedge \omega^2 =$$

$$= -(2K + k) a_1 \omega^1 \wedge \omega^2 ,$$

and we get the existence of functions  $\alpha_{ij}$  such that

(3.4) 
$$d\alpha_{1} - \alpha_{2}(3\omega_{1}^{2} + \omega_{3}^{4}) = \alpha_{11}\omega^{1} + \alpha_{12}\omega^{2},$$

$$d\alpha_{2} + \alpha_{1}(3\omega_{1}^{2} + \omega_{3}^{4}) = \alpha_{21}\omega^{1} + \alpha_{22}\omega^{2};$$

$$\alpha_{21} - \alpha_{12} = (2K + k) a_{2}, \quad \alpha_{11} + \alpha_{22} = (2K + k) a_{1}.$$

For the function g defined by

$$(3.5) 2g = a_1^2 + a_2^2,$$

we get

$$dg = (a_1\alpha_1 + a_2\alpha_2)\omega^1 + (a_1\alpha_2 - a_2\alpha_1)\omega^2$$
(3.6) 
$$d * dg = \{2(\alpha_1^2 + \alpha_2^2) + (2K + k)(a_1^2 + a_2^2)\}\omega^1 \wedge \omega^2.$$

The supposition  $2K + k \ge 0$  and the Stokes theorem (or the maximum principle as well) imply  $\alpha_1 = \alpha_2 = 0$  and  $a_1^2 + a_2^2 = \text{const.}$ 

First of all, let  $a_1 = a_2 = 0$ . Then the equations (1.1) reduce to

(3.7) 
$$dm = \omega^1 v_1 + \omega^2 v_2 , \quad dv_1 = \omega_1^2 v_2 + \omega^1 v_5 , \quad dv_2 = -\omega_1^2 v_1 + \omega^2 v_5 ,$$

$$dv_3 = \omega_3^4 v_4 , \quad dv_4 = -\omega_3^4 v_3 , \quad dv_5 = -\omega^1 v_1 - \omega^2 v_2 ,$$

and  $\sigma(M)$  is the sphere  $S^2(1)$  in the (fixed) space  $\mathbb{R}^3$  through the center of  $S^4(1)$  spanned by the vectors  $v_1, v_2, v_5$ .

Now, let  $a_1^2 + a_2^2 \neq 0$ . Then

$$(3.8) 2K + k = 0$$

from the integral formula based on (3.6). From (2.8) and (1.14),

(3.9) 
$$K = 1 - 2(a_1^2 + a_2^2), \quad k = -2(a_1^2 + a_2^2).$$

Inserting this into (3.8), we get  $a_1^2 + a_2^2 = \frac{1}{3}$  and  $K = \frac{1}{3}$ ,  $k = -\frac{2}{3}$ . To the points of our surface  $\sigma(M)$ , let us associate the frames  $\{m; v_1, v_2, v_3^*, v_4^*, v_5\}$  with

$$(3.10) v_3^* = \sqrt{3} \cdot (a_2 v_3 - a_1 v_4), v_4^* = \sqrt{3} \cdot (a_1 v_3 + a_2 v_4).$$

By a direct calculation, we get the fundamental equations (1.1) with (1.16), we have just to replace  $v_3$ ,  $v_4$  by  $v_3^*$ ,  $v_4^*$  resp. Thus  $\sigma(M)$  is the Veronese surface. QED.

**Theorem 3.** Let  $\sigma: M \to S^4(1)$ , dim M = 2, be a minimal immersion; let M be compact. Suppose, on M, K > 0 and

(3.11) 
$$-\frac{7}{3} \min_{M} K < \min_{M} k \leq \max_{M} k \leq -2 \max_{M} K.$$

Then  $\sigma(M)$  is the Veronese surface.

Proof. From K > 0 and (3.11), we get (2.1), and we may use the equations (3.2) and (3.4). The prolongation of (3.4<sub>1.2</sub>) yields

$$\begin{aligned} \left\{ \mathrm{d}\alpha_{11} - \left(\alpha_{12} + 3\alpha_{21}\right)\omega_{1}^{2} - \alpha_{21}\omega_{3}^{4} \right\} \wedge \omega^{1} + \\ + \left\{ \mathrm{d}\alpha_{12} + \left(\alpha_{11} - 3\alpha_{22}\right)\omega_{1}^{2} - \alpha_{22}\omega_{3}^{4} \right\} \wedge \omega^{2} = \left(3K + k\right)\alpha_{2}\omega^{1} \wedge \omega^{2} , \\ \left\{ \mathrm{d}\alpha_{21} + \left(3\alpha_{11} - \alpha_{22}\right)\omega_{1}^{2} + \alpha_{11}\omega_{3}^{4} \right\} \wedge \omega^{1} + \\ + \left\{ \mathrm{d}\alpha_{22} + \left(\alpha_{21} + 3\alpha_{12}\right)\omega_{1}^{2} + \alpha_{12}\omega_{3}^{4} \right\} \wedge \omega^{2} = -(3K + k)\alpha_{1}\omega^{1} \wedge \omega^{2} . \end{aligned}$$

and the existence of functions  $\alpha_{ijk}$  such that

(3.13) 
$$d\alpha_{11} - (\alpha_{12} + 3\alpha_{21}) \omega_1^2 - \alpha_{21}\omega_3^4 = \alpha_{111}\omega^1 + \alpha_{112}\omega^2 ,$$

$$d\alpha_{12} + (\alpha_{11} - 3\alpha_{22}) \omega_1^2 - \alpha_{22}\omega_3^4 = \alpha_{121}\omega^1 + \alpha_{122}\omega^2 ,$$

$$d\alpha_{21} + (3\alpha_{11} - \alpha_{22}) \omega_1^2 + \alpha_{11}\omega_3^4 = \alpha_{211}\omega^1 + \alpha_{212}\omega^2 ,$$

$$d\alpha_{22} + (\alpha_{21} + 3\alpha_{12}) \omega_1^2 + \alpha_{12}\omega_3^4 = \alpha_{221}\omega^1 + \alpha_{222}\omega^2 ;$$

$$(3.14) \qquad \alpha_{121} - \alpha_{112} = (3K + k) \alpha_2 , \quad \alpha_{212} - \alpha_{221} = (3K + k) \alpha_1 .$$

The differential consequences of  $(3.4_{3.4})$  are then

(3.15) 
$$\alpha_{211} - \alpha_{121} = (2K_1 + k_1) a_2 + (2K + k) \alpha_2,$$

$$\alpha_{212} - \alpha_{122} = (2K_2 + k_2) a_2 - (2K + k) \alpha_1,$$

$$\alpha_{111} + \alpha_{221} = (2K_1 + k_1) a_1 + (2K + k) \alpha_1,$$

$$\alpha_{112} + \alpha_{222} = (2K_2 + k_2) a_1 + (2K + k) \alpha_2,$$

the first covariant derivatives of K and k being defined by

(3.16) 
$$dK = K_1 \omega^1 + K_2 \omega^2, \quad dk = k_1 \omega^1 + k_2 \omega^2$$
 resp.

By a direct calculation, we get, for each  $r \in \mathbb{R}$ ,

(3.17) 
$$\frac{1}{2}d * \{d(\alpha_1^2 + \alpha_2^2) - (2K + k + r) d(\alpha_1^2 + \alpha_2^2)\} =$$

$$= \{\alpha_{11}^2 + \alpha_{21}^2 + \alpha_{12}^2 + \alpha_{22}^2 + (3K + k - 2r) (\alpha_1^2 + \alpha_2^2) -$$

$$- (2K + k) (2K + k + r) (\alpha_1^2 + \alpha_2^2)\} \omega^1 \wedge \omega^2,$$

and the corresponding integral formula (in the case of M being non-orientable, we pass to its universal covering  $M^* \to M$ ). Let us take

(3.18) 
$$r = -\frac{1}{4}(\min_{M} K + \min_{M} k).$$

Then using (3.11),

(3.19) 
$$2K + k \leq 2 \max_{M} K + \max_{M} k \leq 0,$$

$$3K + k - 2r = 3(K - \min_{M} K) + (k - \min_{M} k) + \frac{3}{2}(\min_{M} k + \frac{7}{3} \min_{M} K) > 0,$$

$$2K + k + r = 2(K - \min_{M} K) + (k - \min_{M} k) + \frac{3}{4}(\min_{M} k + \frac{7}{3} \min_{M} K) > 0.$$

Because of this, our integral formula yields  $\alpha_{ij} = 0$  and

$$\alpha_1 = \alpha_2 = 0,$$

$$(3.21) (2K + k)(a_1^2 + a_2^2) = 0.$$

Thus  $a_1^2 + a_2^2 = \text{const.}$  In the case  $a_1 = a_2 = 0$ , we get K = 1, k = 0, a contradiction to (3.11). Thus  $a_1^2 + a_2^2 \neq 0$ , and (3.21) implies (3.8). Now follow the proof of the preceding Theorem. QED.

#### References

- M. Kozlowski, U. Simon: Minimal immersions of 2-manifolds into spheres. Preprint TU Berlin, 115/1983.
- [2] A. Švec: Vector fields on hyperspheres. Czech. Math. Journal, 37 (112) (1987), 207-230.

Author's address: Přehradní 10, 635 00 Brno, Czechoslovakia.